oA al
bt Rack
PRRS = ABLP

= Q20 % 2650

[2. A street of width 10 m

S

surrounds rectangular garden,
whose measurements are
200mx 180m , from
outside. The area of the path

IS

Pt ImATaeR aEr ST

dFars 9l 200m x

180 m §, & gl 3T IR

aXF 10m dlsT TFaT B 39

TUES FT &TThd FAT BIN?
8000 b) 7000

c) 7500 d) 8200




C,rwﬂ-?]::j
N

pi
. :{é}b)
[ w
X4

Pa
M
3(9+b) N,
-rl{
it

U\)”







107
l6o
10 go |0
\0
. 0D
PMxw — Yy 2
= T60x|p - Uy
:72'%

|3+ A path of width 10 m runs inside the
AN~

Y'{d)

boundaries of rectangular garden,
whose measurements are 200 m X
180 m. The area of the path is

fFdt IR S fSEe
JFarg d9iss 200m x 180m §,
& e F WY-ATT el I
P 10m isT TEar 3] 39 T
ST 8Bl FIT gEM?

a) 8000 b) 7000

c) 7500 /bzoo




pm’xw
=a(fsb)W-4w"




podh Ovlgide = ok xwl + 4w ™=

pash imole = /Dw'xW-qw7’




(4. A path of uniform width runs around

" % o = Pyu: xW +(1W2‘ the of a rectangular field 30
p m long and 20 m wide. If the path
q0ccupies 464 m?, then the width of

Z_ HUw the pathis
00 x W + "= Uy 30m @FaE 3R 20m ol e
TF HIAAHR AT & IR a6
deY &Y 3T TFH JA IS HI

_ 2
D WFasw-1l6=0

/\ m%|m3ﬁma-rmm
—éZO]@ 464m? & ar 3w dls$ gar
X / |
-ve a)2 b) 3

,y/4 d) 5




15- A path of uniform width runs
round th =m- a rectangular
field 38 m long and 32 m wide.
If the path occupies 600 m?,
then the width of the path is:
38m oFa 3R 32m 93
IAAFER HAgT F TRI AR
X H WG TEH HAW
gls #1 TFar @ IR W
TET HT AIFA 600 m? § a

3 TFQ # 9Is$ gar
a)3m 5m
c)8m {;Gm




2 [é. The length and breadth of a
Pu/:xw +Yyw = P M MR rectangular field are in the ratio
[7:4. A path 4 meter wide

running all round has an
KL X)‘f"' H% =4S 2,4 %5rea of 416 m2. Th! breadth (in
/) S& m) of the fieldis +Uw™*

frdll AR #AgE @Y
m@aﬁtﬁg@mm

2 llx= 4y g 4 ¥ =@F IR I T
Y a?rm4mhuiﬁaw
= K= TEAT § AT w416
m? @ #Heer fr dls$ wan
C|
a) 28 b) 14

c) 15 /) 16

| J



|#- The width of the path around a

Po\% OMA = P-OV. X N +‘4w square field is 4. 5m and its area is
L'-, r 105.75m? . Find the cost of
2% w/ }(Xﬁ/ 9 ‘ fencing the square field at the rate

a _-I-GFZS of X100 per metre.
MO a| | v amER dawr & W AR
Y o e 1 Gl 4.5m ¥ 3R
1<T) ‘ SHHT &89%d  105.75m? @
Aa=YT _q 2100 9fd #Hiex I T A A=
T,\ = & IR P §15 9 FT AT

4 Fa i
a)X275  b) 400
Ulq' 2l -LZ -Le%g. c) 600 ,ﬂ %550

| SSCCGL T1, 11 Apr 2022 S2 10



/8 2 meter broad pathway is to be
constructed around a rectangular plot.

OMA = x W + qw The area of the plot is 96 sq. m. The
Pa}h PW cost of construction is Rs.50 per sq.
3 Ww=12 meter. Then find the total cost of

a*b) production?

fFdfl FAAER A F IR R
;azmaﬁawﬁaaﬂmﬁ'?

_ | THTe HT &A% 96 I
Lxb=26 (467 IR S F @S 50%9C gfy

Abx 1 47 | Aex & @ B TS gaT B
a) Rs.4800 b) Rs.4000
\'\?x:‘)\ Sb c) Rs.2400 ﬂData inadequate

32 3 s e) None of these

| | 11



|9- What will be the cost of gardening 1

, o meter broad boundary around a

FWH’) oM& = P?}l&xl/\/‘l‘ Mw rectangular plot having perimeter of 340
meters at the rate of Rs.10 per square

- e meter?
= B0x [+ Yx! 340 Hlex IRAT I TF IAEFR

= 2uY .2 (0 tae & IR WE 1HeT @i gg A
m = x| 10¥9T 9fy g9 Hiex ) e & aerEEh
A HT G 9T HY|
a) Rs.3,400/- b) Rs.1,700/-
Rs.3,440/- d) Can’t be determined
e) None of these




as
/H%(.)Zj::-%qu—
= A=5

Pw+l4w2'

23S
=Fox3 + 3,3
,Q’ 22—

]

20. What will be the area of 1.5 meter

Ur

£ 8

wide garden developed around all
the four sides of a rectangular field
having area equal to 300 m? and
breadth equal to three-fourth of the

a) 96 b) 105

| | 13



2I. A rectangular park 60 m long and 40 m
wide has two concrete crossroads running
\ u in the middle of the park and rest of the

“ \ park has been used as a lawn. If the area
\ \ of the lawn is 2109 m?then the width of

theroad is
GON TF JAEHT I 60 H. aFar 3k
Padh= 60w+ Uy - y2 20s 40 A dler § 3R 9F F dat G
—_—— W ﬁt T ar agﬂg;g N IR
GRIGT Tl Y Uk ol
pathy = T°+°‘l (oo m 2o+ ¥ AR W A Qe § | ARy A
HT aI%er 2109 #H.2 g o #sd

/f3m . b)5m

c)6m d)2m

14
CGL 2016 T-2



<0

(o




)1
= [ Qo
v J
30—
‘ %RQ—+ PGJ#): BOYQ +<QOX1 —QX -2_
29(2 lf =96
‘ 2 LQWY)= ag
—3p _ i S x:f;
0




22. If the perimeter of a rectangle is P

fl-\'b; ? ' ? unit and its diagonal is d unit, then
a’ Zb the difference between the length

| and width of the rectangle is-
14 = d L IR FA Iga F1 9R#AT P
b=? m%mmﬁwdm%
: ar mr-r a?r ararg 3k dlsg &

%

2
24b- Q“b)-(ﬂ?*bz) (3+b)- s ,—2
_ ﬂ ic units b) unlts

JP 'Zp %d' c) 8d2+P2 d) un|ts
p Md

Q—b—|
Y %Z!% Dely
L’

| | 17




o 2% Instead of walking along two
@ U O'th adjacent sides of a rectangular
field, a boy took a short cut along
9 the diagonal and saved a distance
56/ 2| A equal to[half the longer side] Then
the ratio of the shorter side to the
Y i, longer side is

}' TF @ R aeR @d
QY

$Y 13T F IE FA Y TATC
& 3% faHor & TEd AT g 3T
SH YR dg oFdl oT & 3Y
& AW TEAT g9 o1 §| A

(@]

—

S

B lww N

18
| CAT 2002 |
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2Y. A boy walked along two adjacent sides

) ) of a rectangular field. If he had walked

W ' along the diagonal, then he would have

saved a distance equal to one-fourth of

2% 7 the larger side. The ratio of the larger to
the smaller side is:

Th dSH Th AAAHR AT A

Y wfeade oMt & FW egaar ¥

IR a8 AFOT & FIW egar g, ar

Sou, W+7= 3 59 38 Ao A IR e A TH-
e=g,_°?J_ ﬁaﬁq&#wq&mmm

< ¢ UScll 931 el e F1, BT dTell

\ m#mmﬁmv
l\_) a)7 : 24 b)11: 18
S /24:7 d)18: 11

|SSC MTS, 13 Oct 2021, Sﬂ 0







o

2 2
(+b+2 - 26 rectangle is 6 cm. A square is constructed
areas of the square and rectangle is 5: 2,
2.2
L4b” s UF HUd f) dFaE qur ol &

25 The sum of the length and breadth of a
such that one of its sides is equal to a
Q‘l‘b = 6/,[Lz+bz= ;g.,z% é,é" diagonal of the rectangle. If the ratio of
‘ L the area of the square in cm? is
%'7_ zmrsﬁ.:ﬁ.%|w@a1‘ra?r
- T Y g 7 o o o e
DR ¥=50 N a;wﬁmga;m%laﬁ

Cl

| CGL 2016 T-2 | =



ECOREY
I wadhod 5= Uge eptioms

Q) [:_\

b) é’g

&Y

aM
[AR'eX)

26

C) Ay 2
e
vk

The area of a rectangle and the
square of its perimeter are in
the ratio 1: 25. Then the lengths
of the shorter and longer sides
of the rectangle are in the ratio
fdl I3Ia & aEwd T sES
IRATT F T FT HAIT 1:25
g 3maa fr oxd ik T
o3t TFEEIS FT FAUT
9 9
qdT &

a)1:3 b) 3:8

c) 2:9 ﬂ 1:4

| CAT 2018 | 23



_I_T_ W\UHWd ; Sh M_
W lovjet
[l(hb)]z <

2 asth= Yrup +8b

-
—

=l

: q'(az—l-"lﬁ-l-"] =0

= 1,2 Prod  Suw
)(ql t4b _\7%;0>%11 \/6\ g

-
=

D Y+4b - 17b. g 1
2 —~=0 V74 %
e Xir @ z

“ X]&




Rlack

27. The length and breadth of the floor of a room are

[z - -
Vot
LT l/ 20

Blna(%%)

Tb"'cd 'kALb = Q‘@
2 =
‘Q(k *Tk& ST

10

:50

20 feet and 10 feet respectively. Square tiles of 2
feet length of three different colors are to be laid on
the floor. Black tiles are laid in the first row on all
the sides. If white tiles are laid in the one-third of
the remaining and blue tiles in the rest, how many
blue tiles will be there?

TH H F BF A aFarg dx dlsd FAAR
20 $e 3 10 T §] 3@ wF W A srer
39T T A 2 qs-c aFl SR Tged ARl
ST & 9 e S-IGIT 1 gyH 9fFd H Fred T
$I T IS snr-ﬁ g 9 o=t Tsew A @
& faer$ whe T H as?\tr g 3T T =i
eFed oAl W dr g Ald Wr B egew A

Blug tidity= S0-26-g, Fe Rt 32

d%? L

16 b) 32 c) 48

6 d) 64 e) None of these

| | 25



L .zb :
b ¢ >
2 2 2’

2 (=2b —
4 b=3 :‘b

=.) 1-..8

28. A rectangular sheet of paper, when halved by

folding it at the mid-point of its longer side,
results in a rectangle, whose longer and shorter
sides are in the same proportion as the longer
and shorter sides of the original rectangle. If the
shorter side of the original rectangle is 2, what is
the area of the smaller rectangle?

R frdr smaaeRr ofie #f 3T dF=E &
Aty 9 ¥ Bles fFaT I @ 39 TR E
o G A aFag ik d@lsE &

ma’ré’r@msﬁqﬁmaﬁrm@
3R dleE F1 U R g AT B A

D 9=35 Wb 2 ﬁwmz%amﬁmmﬂmmﬁl
a) 4v2 V2
)< c)V2 d) None of these

| CAT 2004 | 26



29. ABCD is a rectangle of dimensions
6cm X 8cm. DE and BF are the

perpendicular drawn on the
/ diagonal of the rectangle. What is
& the ratio of the shaded to that of

unshaded region?
ABCD U& 6cm X 8cm & Imad
& DE 3iX BF fa®vof Ac W s=mT

\O

N 5 AT aFT § oFRd IR K-
(o} ORIfPd HPT & &9%dl &l
2 2 AT FAT 2
Z % | A a)7:3 169
» Y 3 T 9% - 3t c)4:3V2  d) Data insufficient







L B =
433 E C D\ A
2y
3= W*—bl“ﬂ:lS‘pMﬂ =\b\POQM.
I




%0.The length and breadth of a
playground are 36 m and 21 m
respectively, poles are required to
. be fixed all along the boundary at a
NO “ﬁ OM - JU\«MM distance 3 m apart. The number of
' P poles required will be
9°F Bl @@ & daw # e
19 3ilx =tsE Faer 36m 3R 21m
- Ax57 sqhT IR & IR X% 3m &
=38 IOl g W @ wae o
= g frded @F oMU ST "od
g2
a)39 38
c) 37 d) 40

| | 30
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